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PEHUR: Witk SomLx1 i, 4°CIRAE
5 —: WK 15mLx1 i, 4°CIRAF;
WA~ Widk 60mLx1 i, 4°CLRAE

HRAUERNES.

1. EEIE TR SCBRME AR 0E N, BOEF EE, RRMEHEAEEE (1041 - R
BUBAARL (mL) 9 500~1000: 1 LB G2l 500 7740 BB AMI N ImL $2H0GH0D, 8 75 Ik i e 4 B B4t
Ml (UK#, ThE 20% 8% 200W, #E7 3s, [AIE 10s, H 30 %); 8000g 4°C & L» 10min, B L3, BHik L
FRill

2. HEL WBALRE (g) « RBURAFmML)N 1: 5~10 BHLE] CGEFRELZ) 0.1g 2H43, I 1mL 2
B, #HATUKH A . 8000g 4°CHE L 10min, B i, Bk LA,

3. I CGRO FEm: BN,

ME SR
1. 206G BETHRFA 30min BL L, (5% K 2 540nm, ZEMKIHE.
2. INFER (FE EP B AR UTIA T A

WAL (ul) e xof B
FEA 50 50
A— 500
&K 500
V2T, 37°CHERI/KIE 2h
WA= 1000 1000

VBA, 90°C/KI 10min (5%, Byib/AKaE50), WG, W 540nm FUHOGE A, 5 AA=A & &
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C1 EEHE:

1. FRAESME T IE RS FEN v = 6.4078x - 0.0673; x AFRUEMIRE (mg/mL), y ARG

2. M G CLIEAMTE

BALHYE S B mL s CRD SR Ipg W8 E 0 E SCh— AN ) B

C1 3% 71(ug /min/mL)= [1000 X (AA+0.0673) +6.4078xV 2 & ]+V FE=T
=14.305%(AA+0.0673)

3. 4. AEAHL T CL g i

(D ZBEORETHE

FALIE S B mg HLGUE (VRN EMEEAL 2R Lng HETHE 2 SO — BTG 1 BT

C1 3% 71(ug /min/mg prot)=[ [1000X (AA+0.0673) +6.4078xV A ]+(V ¥ExCpr) +T
=14.305%(AA+0.0673) ~Cpr

(2) FrEAEEE I

AR S A g HEVGA B A 1 u g BETRE S SCA— AN 1840

C1 ¥& /1 (ug /min /g 5 E)=[1000 X (AA+0.0673) 6.4078xV X HJ=(Wx V F+V FEE) =T
=14.305%(AA+0.0673) =W

(3) ¥4 b4 BN A B P A

BAALRE S B 1 TS0 B BRI A A A 1 g RN E SO — AN A

C1 3% 71(ng /min /10% cell)=[1000 X (AA+0.0673) +6.4078xV [ S]+(500xV FE+V FEE) =T
=0.0286x(AA+0.0673)

1000: 1mg/mL=1000ug/mL; V R&: RFMAEREAER, 0.55mL; V& IAFEARET, 0.05mL; VFER:

IMNBREGRAR, 1 mL; T: KBAFE], 120 ming Cpr: FEARABRIKE, mg/ml; W: FEARE, g

500: 2B AEEE, 500 JT.



